Ballot Trafficking Exposed

Praying into the findings of widespread ballot trafficking, praying for election integrity, and for those who are fighting for it. An Intercessors for America Special Report.

Intercessors for America has been praying and taking action for election integrity for years. Many of you have been part of praying for protected election processes in our nation. After all, what good are free elections if the outcomes are tainted with voter fraud, sloppy processes, and nefarious plans to scam the system. Recently some unprecedented evidence was presented to the public that should and could curtail some of these actions that are polluting and even changing our elections and their outcomes. Read on. Pray through this information, and for all those involved in uncovering it.

Unprecedented Private Funding

Millions of private dollars funded ballot drop boxes. At least 470 million came through Mark Zuckerberg and that was mostly through the Center for Tech and Civic Life.

These donations were supposed to fund PPE for Covid but the lion's share funded drop boxes, mostly in Democratic areas. The Center for Election Innovation and Research was also part of the process of "updating" election processes.

We pray about these hundreds of millions of private dollars that funded chaos in voting in 2020. Pray for restoration of order and law in elections. Pray for the truth to spread through 2000 Mules.

Pray about and for those who are changing our election processes.



Mark Zuckerberg Priscilla Chan Zuckerberg Founder of Facebook, <u>Chan Zuckerberg Initiative</u>



Tiana Epps-Johnson

Founder, Executive Director Center for Tech and Civic Life



David Becker

<u>Center for Election Innovation</u> and Research

Pray Romans 1:18

For the wrath of God is revealed from heaven against all ungodliness and unrighteousness of men, who by their unrighteousness suppress the truth.

Ballot Trafficking Exposed

Unprecedented Measures

Covid created the opportunity for a perfect storm for election fraud. Inaccurate voter rolls. Ballots mailed to every possible voter at every possible address. Ballot boxes unsupervised (in many jurisdictions video cameras required by law were nonexistent).

Catherine Englebrecht of True the Vote warned IFA in early 2020 that special Covid mail balloting would bring chaos. She was right.

True the Vote took action in the midst of the chaos. They ten trillions of cell phone location pings and 4 million minutes of video. The combination of identifying unique cell phones near drop boxes and attaching video footage to the location tracking proves the ballot trafficking.

True. Real. Definitive findings.

With a motto of "whatever we do, we can't be wrong," here's what they found.

At least 2000 individuals illegally trafficked ballots. These are the mules.

An average of 38 visits per cell phone. (Some went hundreds of times.) For a payment of about \$10 per ballot. Mostly during early voting.

Patterns were similar across the states. Outcomes were similar. Watch the movie to understand the power of combining geolocation with video evidence.

Please pray for protection for whistleblowers and that their accurate testimony will come out. Pray they would reach out to God for protection.

Unprecedented Opportunity

This misuse of authority and Covid allowances was not created in 2020. The network behind the mules was organized already. The Covid response gave all the tools needed for overdrive in 2020.

Geolocating proved connections between far left organizations and the mules tracked—mules would go to the offices and then to ballot boxes. Some went to many of the organizations and then on to the drop boxes.

Those who forsake the law praise the wicked, but those who keep the law strive against them. (Prv 28:4)

Pray for the uncovering of the networks organizing and funding the illegal ballot trafficking proven in 2000 Mules. "This is real—what you are pouring in with prayers and faith is what this is all about and if we stick together with faith there is nothing that we can't do. We thank you from the bottom of our hearts. God is good and faithful in all things. We are living in remarkable times. Stay encouraged. Stay in God's Word. Love each other. The best days are ahead."

- Catherine Engelbrecht, True the Vote

Grant Monies by states

Private/partnerships like the Center for Tech and Civic Life/Chan-Zuckerberg grant funding provided funds for early voting, drop boxes and vote by mail. Here is the breakdown of the private fund grants by state for this effort.

State	То	tal CTCL Grants	Population (2020)	Per Capita
GA	\$	45,013,990	10,711,908	\$ 4.20
TX	\$	38,621,136	29,145,505	\$ 1.33
NY	\$	25,811,323	19,835,913	\$ 1.30
PA	\$	25,011,085	13,002,700	\$ 1.92
CA	\$	21,800,648	39,538,223	\$ 0.55
NJ	\$	21,340,276	9,288,994	\$ 2.30
MI	\$	16,862,654	10,077,331	\$ 1.67
FL	\$	16,040,950	21,538,187	\$ 0.74
WI	\$	10,108,644	5,893,718	\$ 1.72
OH	\$	7,518,652	11,799,448	\$ 0.64
NC	\$	7,188,264	10,439,388	\$ 0.69
MN	\$	7,169,406	5,707,390	\$ 1.26
KY	\$	7,114,078	4,505,394	\$ 1.58
MO	\$	6,802,914	6,154,913	\$ 1.11
MD	\$	6,195,787	6,177,224	\$ 1.00
IL	\$	5,646,844	12,812,508	\$ 0.44
SC	\$	5,373,219	5,118,425	\$ 1.05
AZ	\$	5,169,724	7,151,502	\$ 0.72
IA	\$	4,436,775	3,190,369	\$ 1.39
VA	\$	3,733,823	8,631,393	\$ 0.43
MS	\$	3,703,777	2,961,279	\$ 1.25
NM	\$	3,263,077	2,117,522	\$ 1.54
MA	Ś	2,923,321	7,029,917	\$ 0.42
WA	\$	2,849,931	7,705,281	\$ 0.37
NV	\$	2,671,515	3,104,614	\$ 0.86
ME	\$	2,573,157	1,362,359	\$ 1.89
OK	\$	2,490,055	3,959,353	\$ 0.63
AL	\$	2,451,843	5,024,279	\$ 0.49
KS	\$	2,230,628	2,937,880	\$ 0.76
MT	\$	2,096,878	1,084,225	\$ 1.93
IN	\$	2,043,365	6,785,528	\$ 0.30
CT	\$	1,871,932	3,605,944	\$ 0.52
OR	\$	1,572,146	4,237,256	\$ 0.37
AR	\$	1,306,012	3,011,524	\$ 0.43
LA	\$	1,128,000	4,657,757	\$ 0.24
со	\$	748,724	5,773,714	\$ 0.13
ID	\$	712,289	1,839,106	\$ 0.39
DC	\$	617,613	689,545	\$ 0.90
RI	\$	581,865	1,097,379	\$ 0.53
HI	\$	490,985	1,455,271	\$ 0.34
NE	\$	404,585	1,961,504	\$ 0.21
TN	\$	382,962	6,910,840	\$ 0.06
UT	\$	295,611	3,271,616	\$ 0.09
ND	\$	261,052	779,094	\$ 0.34
SD	s s	255,231	886,667	\$ 0.29
NH		213,502	1,377,529	\$ 0.15
VT	\$	77,269	643,077	\$ 0.12
AK	\$	50,000	733,391	\$ 0.07
Total:	\$	327,227,517	Average:	\$ 0.87

<u>Grant data from CTCL 2020 Form 990, Schedule 1. Population</u> <u>data from U.S. Census Bureau. Capital Research/CTCL grants</u>

Take Action

Now that we know that there is evidence of electionaltering fraud, in addition to praying (see the prayer points and scripture featured throughout this guide) and take action. Here are three action steps that you can take to be part of the solution.

See 2000 Mules

The documentary 2000 Mules shares even more detail about the findings of these trafficking efforts. We encourage you to support their effort by either seeing 2000 Mules at a theatre near you, or visit their online site <u>HERE</u> for video streaming opportunities.

Send a Message

Intercessors for America offers opportunities to speak into our government and culture through messaging. Visit IFA's Action Center for two voter integrity messaging campaigns. One of the easiest ways we can stand up for truth and values is to voice them. Click <u>HERE</u> to go to the Action Center.

Volunteer

One of the reasons that we were able to find out what kinds of fraud and trafficking was happening was through the tips of everyday citizens involved. Volunteer to be a poll watcher, an election worker, or a vote count observer. True the Vote has information on how you can be part of the process to protect the vote. Click <u>HERE</u>.

Ballot Trafficking Exposed

Pray for those who are exposing problems with election integrity.



Catherine Engelbrecht Founder, True the Vote Featured in 2,000 Mules documentary



Gregg Phillips True the Vote Featured in 2,000 Mules documentary



Dinesh D'Souza 2000 Mules documentary creator, producer, and director

Pray Psalm 91:1-2

He who dwells in the shelter of the Most High will abide in the shadow of the Almighty. I will say to the Lord, "My refuge and my fortress, my God, in whom I trust."

Unprecedented Answered Prayer

IFA teamed up with True the Vote throughout 2020 during the Vote Your Values initiative, praying against fraud and that people would speak up when there was fraud. A lot of what is shown in 2000 Mules resulted from True the Vote's election integrity hotline that IFA also featured on our Vote Your Values map.

Thank the Lord for Catherine's work and Gregg's work. This is how God answers prayers—Catherin<mark>e was w</mark>illing to take risks to make this happen.

"We feel the prayers. God is moving. God is at work. We feel your prayers. We need it. This is far from over. We have further to go. It's not for the faint of heart. We are committed to the work and seeing it through." – Catherine Engelbrecht, True the Vote.

I will restore to you the years that the swarming locust has eaten, the hopper, the destroyer, and the cutter, my great army, which I sent among you. "You shall eat in plenty and be satisfied, and praise the name of the Lord your God, who has dealt wondrously with you. And my people shall never again be put to shame. (Joel 2:25-26)

Pray for Catherine Engelbrecht, Gregg Phillips, Dinesh D'Souza and True the Vote. Pray the Lord would deal wondrously with them. Pray that nothing will be stolen. Ask the Lord to give them supernatural energy to go forth with the evidence. Pray that everything the Lord wants to accomplish through these efforts would come to pass.